1. Why is Bi(v) a stronger oxidant than Sb(v)? 

2. Though nitrogen exhibits +5 oxidation state, it does not form pentahalide. Why?


3. Why is red phosphorus less reactive than white phosphorus? 

4. What is the oxidation number of phosphorus in H3PO2 molecule? 

5.  Fluorine does not exhibit any positive oxidation state. Why?

6.  Nitrogen is relatively inert as compared to phosphorus. Why? 

7. Noble gases have low boiling points. Why?

8. Why does NO2 dimerise ?

9. Why is BiH3 the strongest reducing agent amongst all the hydrides of group 15 elements?

[bookmark: _GoBack]10. Name two poisonous gases which can be prepared from chlorine gas.
